
ECONOMICS

BOOKS - SANDEEP GARG ECONOMICS (HINGLISH)

AGGREGATE DEMAND AND RELATED CONCEPTS

Example

1. Calculate APC and APS from the following schedule : 

Watch Video Solution

Income(Y ) 100 200 300

Consumption(C) 80 120 180

2. If APC of an economy is 0.8, what should be saving at an income

level of ₹ 2,000 crores ?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_jz1wNprwqycK
https://dl.doubtnut.com/l/_jWuNgfOcLD3l


Watch Video Solution

3. (i) The disposable income (Y) is ₹ 1200 crores and consumption

expenditure ( C) is ₹ 800 crores. Calculate the APC. 

If saving is ₹ 500, out of an income of ₹ 5,000, how much is the APS ?

(iii) If disposable income is ₹ 1,000 and consumption expenditure is

₹ 750, find out average propensity to save. 

(iv) If income is ₹ 100, calculate APC. 

(v) When incomes rises from ₹ 1,000 to ₹ 1,100, saving rise by ₹ 30.

Find out MPS and MPC.

Watch Video Solution

4. Calculate MPC from the following schedule: 

Watch Video Solution

https://dl.doubtnut.com/l/_jWuNgfOcLD3l
https://dl.doubtnut.com/l/_2AOVjktqjz2K
https://dl.doubtnut.com/l/_URNom7vUsX71


5. The level of income, in an economy, increases from ₹ 20,000 crores

to ₹ 70,000 crores, and as a result the level of consumption

increases from ₹ 15,000 crores to ₹ 45,000 crores. Calculate the MPC.

Watch Video Solution

6. Calculate the value of MPS from the given table: 

Watch Video Solution

7. Complete the following table: 

Watch Video Solution

https://dl.doubtnut.com/l/_URNom7vUsX71
https://dl.doubtnut.com/l/_5jxdRXwGB5bQ
https://dl.doubtnut.com/l/_cLTZ1pX5pdcv
https://dl.doubtnut.com/l/_kSAI9Cc7GAx1


8. Complete the following table: 

Watch Video Solution

9. Complete the following table: 

Watch Video Solution

https://dl.doubtnut.com/l/_kSAI9Cc7GAx1
https://dl.doubtnut.com/l/_6nZX3CY3YNyt
https://dl.doubtnut.com/l/_PpNyUuPlftd8


10. Complete the following table: 

Watch Video Solution

11. From the following schedule, compute APC, APS, MPC and MPS: 

Watch Video Solution

12. Given that national income is ₹ 80 crore and consumption

expenditure ₹ 64 crore, find out average propensity to save. When

income rises to ₹ 100 crore and consumption expenditure to ₹ 78

crore, what will be the average propensity to consume and the

marginal propensity to consume ?

https://dl.doubtnut.com/l/_mkWHdWZBRL9h
https://dl.doubtnut.com/l/_Kwy59P7MY6xR
https://dl.doubtnut.com/l/_hYzIL6qi0Cut


Watch Video Solution

13. The consumption expenditure and investment demand are ₹ 600

crores and ₹ 300 crores respectively, when income is ₹ 1,000 crores.

Calculate : (i) AD, (ii) AS (iii) Saving.

Watch Video Solution

14. Using the equation of consumption function: C =  + b(Y),

calculate consumption expenditure at the income level of ₹ 500

crores, if autonomous consumption is ₹ 40 crores and 40% of

additional income is saved.

Watch Video Solution

c̄

https://dl.doubtnut.com/l/_hYzIL6qi0Cut
https://dl.doubtnut.com/l/_YXLFfTPsy2p7
https://dl.doubtnut.com/l/_HrjWdax9f5b7


15. The saving curve of an economy makes a negative intercept of ₹

50 crores and 20 % of additional income is saved. Derive the saving

and consumption function.

Watch Video Solution

16. With the help of saving function: S = -20+ 0.3 (Y), calculate

consumption expenditure at the income level of ₹1,000 crores.

Watch Video Solution

17. On the basis of consumption function: C = 120 + 0.40 Y, answer

the following questions: 

(i) Derive the saving function. 

(ii) Determine the saving at the income level of ₹ 500 crores. 

(iii) At what level of income, saving becomes zero ?

https://dl.doubtnut.com/l/_Yk1cne8QfXKr
https://dl.doubtnut.com/l/_5gIGX1UPZw4z
https://dl.doubtnut.com/l/_5kD15LtltzHv


Watch Video Solution

18. If MPC is one-third of MPS and consumption at zero level of

national income is ₹ 40 crores, derive the consumption and saving

function.

Watch Video Solution

19. The consumption function for an economy is : C = 20 + 0.8Y

(assuming amount in ₹ crores). Determine the level of income when

average propensity to consume will be one.

Watch Video Solution

20. The break-even level of income for an economy is given to be ₹

10,000 crores. If the economy saves 20 per cent of additional

income, then calculate the value of autonomous consumption.

https://dl.doubtnut.com/l/_5kD15LtltzHv
https://dl.doubtnut.com/l/_Rmi8rjUOBDa4
https://dl.doubtnut.com/l/_pD7y06WRgtdd
https://dl.doubtnut.com/l/_aQyDmhmuJNJg


Watch Video Solution

21. Given below is the consumption function of an economy: 

C = 100 + 0.5 Y. 

With the help of a numerical example, show that in this economy, as

income increases, APC will decrease.

Watch Video Solution

22. If a consumption function of a hypothetical economy is given as: 

C = 100 + 0.6 Y, then 

(i) What will be the values of marginal propensity to consume and

marginal propensity to save for the economy ? 

(ii) Write the corresponding saving function.

Watch Video Solution

https://dl.doubtnut.com/l/_aQyDmhmuJNJg
https://dl.doubtnut.com/l/_HnzRTuiaIcsX
https://dl.doubtnut.com/l/_FdYYrawDcio8
https://dl.doubtnut.com/l/_476wciiCKj1A


23. Estimate the value of Aggregate Demand in an economy if: 

Watch Video Solution

(a) Autonomous Investment (I) = 100crores

(b) Marginal Propensity to Save = 0.2

(c) Level of Income (Y) = 4,000crores

(d) Autonomous Consumption Expenditure(c̄) = 50crores

24. On the basis of given diagram, answer the following questions: 

(i) What is the value of autonomous consumption ? 

What is the break-even level of income or at what level of income

saving is zero ? 

(iii) How much is APC corresponding to point E ? 

https://dl.doubtnut.com/l/_476wciiCKj1A
https://dl.doubtnut.com/l/_ktlIleX5IpCf


(iv) If MPC = 0.6, determine the consumption and saving function. 

View Text Solution

25. The consumption function of an economy is given as: C= 60+0.6Y.

Draw a diagram showing consumption expenditure corresponding

to income levels of 0, 100, 200, 300 and 400. (Values of income and

autonomous consumption are in ₹ crores).

Watch Video Solution

https://dl.doubtnut.com/l/_ktlIleX5IpCf
https://dl.doubtnut.com/l/_rkVAkrRW4PkC


26. The consumption function is given as C = 40+0.6Y. Derive saving

function.

Watch Video Solution

27. The consumption function of an economy is given as: C=60+0.6Y.

For the given consumption function, calculate the break-even level

of income.

Watch Video Solution

28. Which of the following can have the value of more than one and

less than zero: (i) APC, (ii) APS, (iii) MPC, and (iv) MPS ?

View Text Solution

https://dl.doubtnut.com/l/_kKnFzHujx4Np
https://dl.doubtnut.com/l/_gbkvNcLdDxqq
https://dl.doubtnut.com/l/_p6dwmtNc5c94


29. Draw on a diagram a straight line savings curve for an economy.

From it derive the consumption curve, explaining the method of

derivation. Show a point on the consumption curve at which average

propensity to consume is equal to 1.

Watch Video Solution

30. Explain the relationship between average propensity to consume

and average propensity to save. Can the value of average propensity

to consume be greater than 1 ? Given reasons for your answer.

View Text Solution

31. Distinguish between voluntary unemloyment and involuntary

unemployment. What is the significance of this distinction ?

View Text Solution

https://dl.doubtnut.com/l/_79aWO7kegACX
https://dl.doubtnut.com/l/_Vqz8dmolwdSx
https://dl.doubtnut.com/l/_xbZ9WFmXP8ij


True And False

32. Discuss the significance of  line in Keynesian Economics.

View Text Solution

45∘

33. What is ex-ante consumption ? Distinguish between autonomous

consumption and induced consumption.

View Text Solution

1. Value of average propensity to save can never be less than zero. 

OR 

Average propensity to save is always greater than zero. 

OR 

Average propensity to save can never be negative.

https://dl.doubtnut.com/l/_xbZ9WFmXP8ij
https://dl.doubtnut.com/l/_Mv67emqpJDDk
https://dl.doubtnut.com/l/_Ck1VeeHCH08A
https://dl.doubtnut.com/l/_EetRgbLM7853


View Text Solution

2. Total consumption in the economy can never be more than

national income.

View Text Solution

3. When the value of average propensity to save is negative, the

value of marignal propensity to save will also be negative.

View Text Solution

4. The value of average propensity to save can never be greater than

1.

View Text Solution

https://dl.doubtnut.com/l/_EetRgbLM7853
https://dl.doubtnut.com/l/_tsx9GwYiAM4W
https://dl.doubtnut.com/l/_3Rh254CZQDGS
https://dl.doubtnut.com/l/_5KcgukVFq6ny
https://dl.doubtnut.com/l/_sOY5ZDloPQ4D


5. Both MPS and APS can be equal to one.

View Text Solution

6. Sum of average propensity to consume and marginal propensity

to consume is always equal to 1.

View Text Solution

7. With increase in national income, both APC and APS fall.

View Text Solution

8. Value of marginal propensity to save can never be negative.

View Text Solution

https://dl.doubtnut.com/l/_sOY5ZDloPQ4D
https://dl.doubtnut.com/l/_r5qQgMvgSQ81
https://dl.doubtnut.com/l/_8ys7poNn1mO3
https://dl.doubtnut.com/l/_0tp1rqWjLX5J
https://dl.doubtnut.com/l/_sK3DZQgIM8Ln


9. Value of marginal propensity to consume can be greater than one.

View Text Solution

10. Full employment implies absence of involuntary unemployment.

View Text Solution

11. APC can be difined as the fraction of change in income that is

consumed.

View Text Solution

12. The point at which consumption curve intersects the 45 degree

line, APS is zero.

View Text Solution

https://dl.doubtnut.com/l/_sK3DZQgIM8Ln
https://dl.doubtnut.com/l/_ZcOkLgFpdk72
https://dl.doubtnut.com/l/_ScvgDABWFUYK
https://dl.doubtnut.com/l/_Uj0I1bq7EfxW


Guidelines To Ncert Questions

13. Average propensity to consume can be greater than one.

View Text Solution

14. Slope of Consumption curve is indicated by APC .

View Text Solution

15. In case of constant MPS, saving function will be linear.

View Text Solution

https://dl.doubtnut.com/l/_Uj0I1bq7EfxW
https://dl.doubtnut.com/l/_rrRe1nXv43ex
https://dl.doubtnut.com/l/_tWP7QYeKAX5b
https://dl.doubtnut.com/l/_JwtbJ1UHROF0


Revision Exercise Multiple Choice Questions

1. What is marginal propensity to consume ? How is it related to

marginal propensity to save ?

View Text Solution

2. What is the difference between ex-ante investment and ex-post

investment ?

View Text Solution

1. Out of the following, which can have a value more than one ?

A. MPC

B. APC

https://dl.doubtnut.com/l/_m0BxeVHtsF8L
https://dl.doubtnut.com/l/_jTbHazVuCk3w
https://dl.doubtnut.com/l/_LELI5SJyc6v3


C. APS

D. MPS

Answer: B

View Text Solution

2. Which of the following is not a component of aggregate demand

in a two-sector economy?

A. Net Exports

B. Government Expenditure

C. Consumption

D. Both (a) and (b)

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_LELI5SJyc6v3
https://dl.doubtnut.com/l/_8cRgxUNyCScg


3. Break-even point is achieved when:

A. National Income = Consumption

B. Consumption = Saving

C. Consumption = Investment

D. National Income gt Consumption

Answer: A

View Text Solution

4. AD curve is a :

A. Horizontal straight line parallel to the X-axis

B. Positively sloped curve

C. Negatively sloped curve

https://dl.doubtnut.com/l/_8cRgxUNyCScg
https://dl.doubtnut.com/l/_4peTroF0UlPZ
https://dl.doubtnut.com/l/_7B2ERTBaAq3I


D. Vertical straight line parallel to the Y-axis

Answer: B

View Text Solution

5. Aggregate Supply and ___ are always equal.

A. National Income

B. Aggregate Demand

C. Marginal Propensity to save

D. Average Propensity to Consume

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_7B2ERTBaAq3I
https://dl.doubtnut.com/l/_WhMCYgxuKlR2


6. Consumption function is the function relationship between ____

and ____.

A. Consumption, Aggregate demand

B. Consumption, National Income

C. Aggregate Demand, Aggregate Supply

D. National Income, Private Income

Answer: B

View Text Solution

7. Tick the wrong option:

A. APC can be more than 1

B. APC can be equal to 1

https://dl.doubtnut.com/l/_scbCySAp3mQO
https://dl.doubtnut.com/l/_TfQTBpSfzQtU


C. APC rises with increase in income

D. APC can never be O

Answer: C

View Text Solution

8. ___ refers to actual saving in an economy during a year.

A. Ex-ante saving

B. APS

C. MPS

D. Ex-post saving

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_TfQTBpSfzQtU
https://dl.doubtnut.com/l/_17kIujBFqKvx
https://dl.doubtnut.com/l/_2gLugxkkQmCB


9. Which of the following is not true about AD in a two-sector

economy ?

A. AD = Consumption + Saving

B. AD curves starts from some point above the origin

C. AD = Consumption + Investment

D. AD curve has a positive slope

Answer: A

View Text Solution

10. Which of the following fact is correct about MPC ?

A. Value of MPC varies between O and 1

B. MPC of poor is more than that of rich

C. MPC falls with successive increase in income

https://dl.doubtnut.com/l/_2gLugxkkQmCB
https://dl.doubtnut.com/l/_ipZmfbwIxFWw


D. All of these

Answer: D

View Text Solution

11. Which of these is a component of Aggregate demand

A. Private consumption expenditure

B. Investment expenditure

C. Government expenditure

D. All of these

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_ipZmfbwIxFWw
https://dl.doubtnut.com/l/_xIRCDMMZKZFB


12. Which of the following can have a negative value ?

A. APC

B. MPC

C. MPS

D. APS

Answer: D

View Text Solution

13. AD Curve starts :

A. From the origin

B. Point Below the origin

C. Point above the origin

https://dl.doubtnut.com/l/_DBixF02v1Pnb
https://dl.doubtnut.com/l/_TcOB7nYyQDYO


D. None of these

Answer: C

View Text Solution

14. If investment falls to zero, national income does not fall to zero

because of :

A. Autonomous Consumption

B. Induced investment

C. Autonomous investment

D. Multiplier

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_TcOB7nYyQDYO
https://dl.doubtnut.com/l/_I5E7zvyZcAFb
https://dl.doubtnut.com/l/_uWMsFCFI55U0


15. Average Propensity to Consume is …….at point B and Average

Propensity to Save is ……..at point A. 

A. 0, 1

B. 1, 0

C. 1, 1

D. 0, 0

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_uWMsFCFI55U0


16. The value of ____ can never be negative, while ____ can have a

value equal to one.

A. APS, APC

B. MPC, APS

C. APC, APS

D. MPS, APC

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_uWMsFCFI55U0
https://dl.doubtnut.com/l/_M2MqqgAOgIIG


17. Break-even point in the following diagram is represented by : 

A. Point B

B. Point A

C. Both (a) and (b)

D. Neither (a) nor (b)

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_IeoVfRRmw5cl


18. Which of the following expression is correct ?

A. APC = 

B. APC = 

C. APC = APS -1

D. APC = 

Answer: A

View Text Solution

Consumption

National Income

Change in Consumption

Change in National Income

National Income

Consumption

19. If C = 100 + 0.75 Y, then Saving Function will be expressed as:

A. S= 100 + 0.25 Y

B. S = -100 + 0.75 Y

C. S = -100 + 0.25 Y

https://dl.doubtnut.com/l/_CR3mMq5QJMNF
https://dl.doubtnut.com/l/_QyaNFjQ46Q7L


Very Short Answer Type Questions

D. S = 75 + 0.25 Y

Answer: C

View Text Solution

1. Give the meaning of aggregate demand.

View Text Solution

2. What are the components of aggregate demand ?

View Text Solution

3. What determines the level of consumption expenditure ?

https://dl.doubtnut.com/l/_QyaNFjQ46Q7L
https://dl.doubtnut.com/l/_ggOxoWIKl1xc
https://dl.doubtnut.com/l/_BzGcXFSUTWlV
https://dl.doubtnut.com/l/_p4ZeibUGfbxZ


View Text Solution

4. Define aggregate supply.

View Text Solution

5. Mention the two components of aggregate supply.

View Text Solution

6. What is consumption function ?

View Text Solution

7. What is meant by break-even point ?

View Text Solution

https://dl.doubtnut.com/l/_p4ZeibUGfbxZ
https://dl.doubtnut.com/l/_umf9ABHiH91h
https://dl.doubtnut.com/l/_fVUfkq3ZVRnL
https://dl.doubtnut.com/l/_ZgtYb9PGSB9l
https://dl.doubtnut.com/l/_crTjtCgBm0i8


8. What is average propensity to consume ? How is it calculated ?

View Text Solution

9. Can the value of APC be greater than one ?

View Text Solution

10. Can APC be ever zero ?

View Text Solution

11. Define marginal propensity to consume.

View Text Solution

https://dl.doubtnut.com/l/_crTjtCgBm0i8
https://dl.doubtnut.com/l/_DaG1VG1GZyge
https://dl.doubtnut.com/l/_vzNQ58vd252H
https://dl.doubtnut.com/l/_9OQa1WDHTbHt
https://dl.doubtnut.com/l/_YVtimjcbIiOb


12. Can the value of MPC be greater than one ?

View Text Solution

13. Distinguish between APC and MPC.

View Text Solution

14. What are the 2 kinds of propensities to save ?

View Text Solution

15. What is average propensity to save ? Give the formula for its

measurement.

View Text Solution

https://dl.doubtnut.com/l/_OCLImMv6R8E7
https://dl.doubtnut.com/l/_y4niPMGDsbgs
https://dl.doubtnut.com/l/_6OI8ZMnoXUHz
https://dl.doubtnut.com/l/_0xFhNOLyaxME


16. Can the value of average propensity to save be negative ? If yes,

when ?

View Text Solution

17. Define marginal propensity to save.

View Text Solution

18. What can be the maximum value of marginal propensity to save ?

View Text Solution

19. What is the relationship between APC and APS ?

View Text Solution

https://dl.doubtnut.com/l/_Tf4iqqc5FhkB
https://dl.doubtnut.com/l/_zfYxVd9QQlar
https://dl.doubtnut.com/l/_cPP3b6HSuDq1
https://dl.doubtnut.com/l/_rqYhySRajgDn


20. What is the relationship between marginal propensity to save

and marginal propensity to consume ?

View Text Solution

21. If the value of average propensity to consume is given as 0.75,

the value of average propensity to save would be _____.

Watch Video Solution

22. If MPC is 0.75, what will be the MPS ?

Watch Video Solution

23. How much is the marginal propensity to consume in an economy

in which MPS is 0.2 ?

https://dl.doubtnut.com/l/_z6JqGKkop4EV
https://dl.doubtnut.com/l/_XXQlIVNGc1TI
https://dl.doubtnut.com/l/_VrZJGu7IG2Ld
https://dl.doubtnut.com/l/_PUWnSIkAiDSq


Watch Video Solution

24. If the saving function is S = -20 + 0.3Y, then what will be the value

of MPC ?

Watch Video Solution

25. Give the meaning of autonomous consumption.

View Text Solution

26. Out of induced investment and autonomousn investment, which

one is influenced by the level of income ?

View Text Solution

https://dl.doubtnut.com/l/_PUWnSIkAiDSq
https://dl.doubtnut.com/l/_ZIoDaBhPmj4c
https://dl.doubtnut.com/l/_v48jkB9bicTI
https://dl.doubtnut.com/l/_VaE1GIcWZU6Z


27. Will a firm invest, if its marginal efficiency of investment is 12%

and the rate of interest is 16% ?

View Text Solution

28. Give the meaning of ex-ante saving.

View Text Solution

29. Give the meaning of ex-ante investment.

View Text Solution

30. What do you understand by ex-post saving and ex-post

investment ?

View Text Solution

https://dl.doubtnut.com/l/_o9qOvZcCjOp1
https://dl.doubtnut.com/l/_SMkpAklqCiT8
https://dl.doubtnut.com/l/_iELxfQ0FpUJu
https://dl.doubtnut.com/l/_PBpp4GmWDUGC


31. Will ex-ante saving always be equal to the ex-ante investment ?

View Text Solution

32. Give the meaning of full employment.

View Text Solution

33. Give the meaning of involuntary unemployment.

View Text Solution

34. Why does cosumption curve not start from the origin.

View Text Solution

https://dl.doubtnut.com/l/_PBpp4GmWDUGC
https://dl.doubtnut.com/l/_ly0GLvusU0Ok
https://dl.doubtnut.com/l/_HgtFKTenIwjq
https://dl.doubtnut.com/l/_P8vl29FMExdc
https://dl.doubtnut.com/l/_wXTXdiX83SEk


Short Answer Type Questions

1. Define aggregate demand. State its components.

View Text Solution

2. "There is minimum consumption, even when the income level is

zero". Defend or refute.

View Text Solution

3. Distinguish between average propensity to consume and marginal

propensity to consume. The value fo which of these two can be

greater than one and when ?

View Text Solution

https://dl.doubtnut.com/l/_7NlevP0MfW7N
https://dl.doubtnut.com/l/_G8tSthWAtgd6
https://dl.doubtnut.com/l/_Qqy6it0piSyi
https://dl.doubtnut.com/l/_KTqceyUufqvO


4. "The rate of increase in consumption is equal to the rate of

increase in income". Do you agree with this statement ?

View Text Solution

5. Define 'average propensity to consume' and 'marginal propensity

to consume'. How are they calculated ?

View Text Solution

6. Give the meanings of 'average propensity to save' and 'marginal

propensity to save'. How are they calculated ?

View Text Solution

7. Distinguish between average propensity to save and marginal

propensity to save. The value of which of these two can be negative

https://dl.doubtnut.com/l/_KTqceyUufqvO
https://dl.doubtnut.com/l/_osYeGIPbdJ1n
https://dl.doubtnut.com/l/_xkbNzHSSpuWf
https://dl.doubtnut.com/l/_wwNS5ayBGV9d


and when ?

View Text Solution

8. Explain the distinction between 'autonomous investment' and

'induced investment'.

View Text Solution

9. Give meanings of : (i) involuntary unemployment, (ii) full

employment.

View Text Solution

10. Explain the distinction between voluntary and involuntary

unemployment.

View Text Solution

https://dl.doubtnut.com/l/_wwNS5ayBGV9d
https://dl.doubtnut.com/l/_Egre9p5pfaud
https://dl.doubtnut.com/l/_h0LNhWrY5JZ2
https://dl.doubtnut.com/l/_FELAihYvDET1


11. Outline the steps taken in deriving saving curve from the

consumption curve. Use diagram.

Watch Video Solution

12. Outline the steps taken in deriving Consumption Curve from the

Saving Curve. Use diagram.

Watch Video Solution

13. Draw consumption curve and saving curve in a single diagram

and mark the 'break-even point'.

Watch Video Solution

https://dl.doubtnut.com/l/_FELAihYvDET1
https://dl.doubtnut.com/l/_axvptWOM4JO8
https://dl.doubtnut.com/l/_gORdMai909Om
https://dl.doubtnut.com/l/_ufC6sOoBG1nI


14. What is the difference between matginal propensity to consume

and marginal propensity to save ? 

What is the relation between the two ?

View Text Solution

15. Explain the relationship between average propensity to consume

and average propensity to save. 

Which of these can have a negative value and when ?

View Text Solution

16. Differentiate between aggregate demand and aggregate supply.

View Text Solution

https://dl.doubtnut.com/l/_c8KXcgtjDtHg
https://dl.doubtnut.com/l/_Di7qNbCsPz6y
https://dl.doubtnut.com/l/_oiyVxBeZ1uRu


17. Give the meaning of average propensity to save. What is its

relation with average propensity to consume ?

View Text Solution

18. Distinguish between autonomous consumption and induced

consumption.

View Text Solution

19. Explain the distinction between ex-ante measures and ex-post

measures.

View Text Solution

https://dl.doubtnut.com/l/_maKtEViz2UwU
https://dl.doubtnut.com/l/_KdA1byGXowo0
https://dl.doubtnut.com/l/_ZiTY7ACa2z2V


20. Give the meaning of : (a) Autonomous consumption, (b) Full

employment.

View Text Solution

21. Which of the following cannot have a negative value ? Give

reasons. 

(i) Average propensity to save (ii) Marginal propensity to save 

Hint : (i) APS can have a negative value because at very low level of

income, there is dissaving, (ii) MPS cannot have a negative value as it

is the ratio of  can never be negative.

View Text Solution

ΔS and ΔY and ΔS

22. Distinguish between marginal propensity to consume and

average propensity to consume. Give a numerical example.

https://dl.doubtnut.com/l/_p5kcIZLRtznM
https://dl.doubtnut.com/l/_xanwFkcic6gw
https://dl.doubtnut.com/l/_hLEBU5R7KfwJ


Long Answer Type Questions

View Text Solution

23. Distinguish between ex-ante measure and ex-post measure of a

variable. Which of the two forms the basis of the theory of national

income determination ? ltBrgt Hint : Ex-ante variable is the planned

or expected value of variable whereas, ex-post variable is the actual

or realised value of the variable. Ex-ante variables forms the basis of

theory of national income determination ?

View Text Solution

1. What is meant by aggregate demand ? Explain the various

components of aggregate demand.

View Text Solution

https://dl.doubtnut.com/l/_hLEBU5R7KfwJ
https://dl.doubtnut.com/l/_1PLXpVmkEXCM
https://dl.doubtnut.com/l/_mD2B58IUwrF7


2. Explain 'consumption function' with the help of a schedule and

diagram

Watch Video Solution

3. What is meant by 'propensity to consume' ? Discuss the two types

of propensities to consume.

View Text Solution

4. Explain 'saving function' with the help of a schedule and diagram.

Watch Video Solution

5. Draw a straight line consumption curve. From it derive a saving

curve. Explain the process of derivation. Show in this diagram : (a)

https://dl.doubtnut.com/l/_y9ByNJ0YVEq6
https://dl.doubtnut.com/l/_PGo56Yn1BSCO
https://dl.doubtnut.com/l/_mm47ltgDVryG
https://dl.doubtnut.com/l/_PJw9DQ2dSOZY


The point at which the Average propensity to Consume is equal to

one: (b) Any point at which the Average Propensity to Save in

negative. 

Hint : Refer 'Derivation of Saving Curve from Consumption Curve'.

Watch Video Solution

6. Give the meaning of propensity to save. Discuss, in brief, the two

types fo propensities to save.

View Text Solution

7. Explain, in brief , the concept fo ex-ante and ex-post saving and

investment. Why are ex-ante saving and ex-ante investment not

always equal to each other ?

View Text Solution

https://dl.doubtnut.com/l/_PJw9DQ2dSOZY
https://dl.doubtnut.com/l/_LwWXOX5iHMEX
https://dl.doubtnut.com/l/_QIN4pi7npMcc
https://dl.doubtnut.com/l/_FDtpY2iecdWy


8. What is meant by investment ? Discuss the two types of

investments.

View Text Solution

9. Explain the steps taken in derivation of the Cosumption Curve

from the Saving Curve. Use diagram. 

OR 

Given saving curve, derive consumption curve and state the steps in

doing so. Use diagram.

Watch Video Solution

10. Outline the steps required to be taken in deriving saving curve

from the given consumption curve. Use diagram. ltBrgt OR 

Given consumption curve, derive saving curve and state the steps

taken in the process of derivation. Use diagram.

https://dl.doubtnut.com/l/_FDtpY2iecdWy
https://dl.doubtnut.com/l/_2IH4XRMrBIl4
https://dl.doubtnut.com/l/_uF48CmHv4fTY


Unsolved Practicals

Watch Video Solution

11. Derive a straight line saving curve using the following

consumption function : C= 20+0.6Y. Presuming the income levels to

be ₹ 100, ₹ 200 and ₹ 300 crores. Also calculate that level of income

where consumption is equal to income.

Watch Video Solution

1. Calculate APC and APS from the following schedule : 

Watch Video Solution

Income(Y ) 100 200 300

Consumption(C) 80 120 180

https://dl.doubtnut.com/l/_uF48CmHv4fTY
https://dl.doubtnut.com/l/_gzsTYEu1QpuV
https://dl.doubtnut.com/l/_zTrUlFvuGNRx


2. At income level of ₹ 5,000 crores, total saving is ₹ 1,000 crores.

Calculate APC.

Watch Video Solution

3. Calculate MPC and MPS from the following schedule: 

Watch Video Solution

4. If households save ₹ 500 crores out of an additional income of ₹

5,000 crores, then calculates MPC.

Watch Video Solution

https://dl.doubtnut.com/l/_r6VEfwya6ZLQ
https://dl.doubtnut.com/l/_Wh5y9h5Y0dMQ
https://dl.doubtnut.com/l/_pIX5eVsEHTlo


5. If the total incomes from ₹ 5,000 crores to ₹ 6,000 crores and

saving increases from ₹ 1,000 crores to ₹ 1,500 crores, calculate MPC.

Watch Video Solution

6. If MPS is 0.3 and the income increases from ₹ 6,000 crores to ₹

9,000 crores, what will be the additional consumption in the

economy ?

Watch Video Solution

7. From the following schedule, compute APC, APS, MPC and MPS: 

Watch Video Solution

https://dl.doubtnut.com/l/_oDwpIcSz9dFy
https://dl.doubtnut.com/l/_GDtdlSWMEDgT
https://dl.doubtnut.com/l/_JS8EPnZdauzJ


8. Complete the following table: 

Watch Video Solution

9. Complete the following table :

Watch Video Solution

https://dl.doubtnut.com/l/_jjOjDuc4CsyO
https://dl.doubtnut.com/l/_Kt01aTz6EXKg


10. Complete the followig table : 

Watch Video Solution

11. Complete the following table : 

Watch Video Solution

https://dl.doubtnut.com/l/_rykRbLVlK0Qi
https://dl.doubtnut.com/l/_LZq9O07UltU5


12. Complete the following table : 

Watch Video Solution

13. Complete the following table: 

Watch Video Solution

14. If National income is ₹ 50 crore and Saving ₹ 5 crore, find out

average propensity to consume. When income rises to ₹ 60 crore

https://dl.doubtnut.com/l/_5Lsg20UOEpEu
https://dl.doubtnut.com/l/_hmd6SQfUGiTo
https://dl.doubtnut.com/l/_TT4kjSCqT9j7


and saving ₹ 9 crores, what will be the average propensity to

consume and the marginal propensity to save ?

Watch Video Solution

15. Using the consumption function : C =  +b(Y), calculate saving at

income of ₹ 2,000 crores, if autonomous consumption is ₹ 150

crores and 40% of additional income is consumed.

Watch Video Solution

c̄

16. The saving function for an economy is given as: S = -120 + 0.4(Y).

Determine: (i) Consumption function, (ii) Consumption at income

level of ₹ 600 crores, (iii) Break-even level of income.

Watch Video Solution

https://dl.doubtnut.com/l/_TT4kjSCqT9j7
https://dl.doubtnut.com/l/_U83nZqamWfTK
https://dl.doubtnut.com/l/_0y5kdedkFyIy


17. The consumption function for and economy is given as: C = 200 +

0.8Y. (i) Determine the value of MPC and MPS, (ii) Autonomous

Consumption, (iii) Derive the corresponding saving function, (iv)

Calculate consumption at the income levels of ₹ 3,000 crores and ₹

5,000 crores. (v) Determine the break-even level of income.

Watch Video Solution

18. If MPC is four times MPS and consumption at zero level of income

is ₹ 70 crores, derive the consumption function .

Watch Video Solution

19. The consumption curve makes an intercept of ₹ 60 crores on the

Y-axis. If MPC:MPS can be expressed as 1:3, then derive the saving

https://dl.doubtnut.com/l/_TGdga2xYxZ5T
https://dl.doubtnut.com/l/_J7IXz684m4MG
https://dl.doubtnut.com/l/_a178pTnhJaiq


and consumption function. Also determine the level of income, when

saving becomes zero ?

Watch Video Solution

20. The break-even point for an economy occurs at the income level

of ₹ 500 crores If marginal propensity to consume is 0.6, determine:

(i) Autonomous consumption, (ii) Saving function, (iii) Level of

income when saving is ₹ 600 crores.

Watch Video Solution

21. The consumption function of an economy is given as: C = 40+0.7Y.

Calculate the saving at the income level of ₹ 2,200 crores

Watch Video Solution

https://dl.doubtnut.com/l/_a178pTnhJaiq
https://dl.doubtnut.com/l/_ZjoDMRUfYwtd
https://dl.doubtnut.com/l/_qtyDISt4YHlk


22. The saving curve makes an intercept of ₹ 40 crores on the

negative Y-axis. If consumers spend 60% of additional income, then

determine: (i) Saving Function, (ii) Consumption Function, (iii) Break-

even level of income.

Watch Video Solution

23. If national income is ₹ 90 crore and Consumption expenditure ₹

81 crore, find out average propensity to save. When income rises to ₹

90 crore and Consumption expenditure ₹ 81 crore, find out average

propensity to save.when income rises to ₹ 100 crore and

consumption expenditure to ₹ 88 crore. What will be the marginal

propensity to consume and marginal propensity to save ?

Watch Video Solution

https://dl.doubtnut.com/l/_aW5SVezgkqJF
https://dl.doubtnut.com/l/_HH5shuab4z3k


24. The saving function is given as: S= -120+0.5Y. Draw a diagram

showing saving corresponding to income levels of 0, 200, 400, 600

and 800.

Watch Video Solution

25. If Consumption Function is given by : C= 30+0.4Y, then

determine: (i) Savings at zero level of income, (ii) MPC, (iii) MPS, (iv)

Break-even level of income, (v) Saving Function.

Watch Video Solution

https://dl.doubtnut.com/l/_WcmR1VNZ1PuJ
https://dl.doubtnut.com/l/_Qvcr0z8vXqZ3

